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== 2,490
Al 4,230
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05 DI2tSIEr2 280,000 256,460 23,540
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SEHol oAz 45,085 106,391 ~61,306
101 o121l 40,885 102,191 ~61,306
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O2Yg? s2& =03 5,000,000& *13] 5,000

303 EAZ 2,700 2,200 500
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O2YF 224 =03 Ala= 2,700
—235 1,000, 000& =12 A 1,000
—E25 700,000& x 12 A 700
—&d 500,000& *x25 A 1,000

=€y RAFUHE 29 79,059 78,449 610

101 1A H| 59,809 59,799 10
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OREFIE2LE E 54,637
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—S25dsY 35,5703 *4H x5 x 12 8,537
PN ESE=Y 35,5703 x4H x12& 1,708
OJI2ZtM 22X 2= 5,172
—=0HZ2822 54,637,000 *4 . 5% 2,459
—MATHHEE = 54,637,000 *1.0% 547
— =88 s843 54,637,000 *1.3% 71
—HUYBEESREZ 54,637,000& *2.54% 1,388
— LoD RUYEE 1,388,000& *4.78% 67

201 B2 AH| 19,250 18,650 600

01 A= Zelbl 14,850 14,850 0
O=xxt&elg =27 300,000& *43| 1,200
OFx&e|d 22= 7 200,000& x4H x23| 1,600
OFXII=E(R/F) 7Y 55,000& 504 2,750
OZFXEIZ 22 263 *250,0000H 6,500
OHEX A2E 2 150,000 x12& 1,800
OFX &Ll XHE tHal= 1,000,000& x 14! 1,000
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ORBA 10,000,000 %14} 10,000
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6,000, 0002 * 14! 6,000
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mau: NgEE o 2l
ool BESH oZet 25 Y FX2e (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
Oogee “ES(UA) 1,800,000 = 1CH 1,800
Og=E =& S8II(UH) 700,000 = 1CH 700
OLRE M (THA) 50,0003 = 10CH 500
OBor ZALIEG S (1, A)
2,200, 00024 *5CH 11,000
OF ZoHEH SHHHYZIEII(PS) ZXX
(CHxI) 4,000, 0002 *54 20,000
FESA AIEZEH & sS4 222 337,908 299,448 38,460
201 LBt 257,508 224,048 33,460
01 AFR 22| 23,895 27,775 A 3,880
OgRE 2ZEYNH 2 19,695
—MS2 Il 22007 PRO 200,000& 502 10,000
—AUTOCAD 1,600,000& 32 4,800
—ZE& CH4 979,000& x5 4,895
OdERS =3l 300,000& »23| 600
O&a ABF H¢ 300,000& *122] 3,600
02 23234l 233,613 196,273 37,340
Ogotdstea 110,000 *1052] &4« 12& 138,600
OFE3H(Ha2)IMNER
25,0003 +33| &+ 12& 900
QdHEHIY AIEZ 15,000 #3023 & *123 5,400
O2INHESAIPL(ATM) 22
1,500,000 *13| & %123 18,000
O0ls&st At8= 63,0003 x4CH=12& 3,024
OFUWueEI XYl 205,920,000 *5/100 10,296
ORENEABSIEX(PS)=XLI(F,S)
8,000,000 2241 *5/100 8,800
OARE MAEH FX2 4l
300,000& «12& 3,600
O FUsaL 7Y 34,500
—=2 15,000& *1,8003| & 27,000
—gz 15,000& »5003] & 7,500
OAMNEEZ AL HEEHI R
17,842, 1503 141 x5/100 893
ool Sl 200,000 =3CH 600
OM&= PC ==cldl 60,000& »150CH 9,000
202 O4H| 5,400 5,400 0
02 XY 5,400 5,400 0
OTFUSE ArEHE B A (8|
150,000 *3F » 123 5,400
401 AIEHIZ 2 75,000 70,000 5,000
01 Al&H| 75,000 70,000 5,000
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60,000, 00021 * 141 60,000
O FOIME A AE0 02 F2SUAL
01 & B A} 5,000, 0002 *344 15,000
NEPE IFE 9IS H2HES 57,920 80,420 £22,500
201 Y2 57,920 63,420 75,500
01 ALR2lt] 57,920 63,420 75,500
ONPERBEHDS SA2E
0,000 * 100AI 2+ 128 36,000
ONPIESS DS DYl 6,002 602 «15]] 5,400
ORMNISE DFE 42E 29
200,000 112 2,200
OMMDRY YORHMEH BT g
600,0002 +23l 1,200
O=YIEHOIX HH 10,000,0002! 1l 10,000
ORMDFEH PCRAI
1,300, 0002 *30CH *8/100 3,120
SEXO MY 1,131,196 1,329,005 A197,809
HAAE 25 L X4 830,752 992,930 A112,178
SEXO FARL 143,441 131,441 2,000
201 Lpr2oy| 143,441 131,441 12,000
01 ALR eIt 27,500 23,500 4,000
ORXIYE 248 15,0002 +30021 4,500
OBMAEES 91 A28 22 5,000,008 5,000
OFSZEA 2 SHFA P2ISE 7Y
50,0002 * 122 1,800
OHBYT £ FIA2E 22 10,000,008 10,000
OW2e ASH 7Y 500, 00024 *23] *2CH 2,000
O2IHEET 7Y 15,0002 235 +123] 360
OZMEFEM 7Y 60,0002 43| 240
OsHBE 7Y 30,0001 #1202 3,600
2 22| 115,941 107,941 8,000
SENEEEPS 10,000, 00024 * 18] 10,000
OFCU M2t 2 2= 27,0002 *143CH 3,861
OWSI| Nze4 4,000,002 x244 8,000
Og D& A2« 24 580,000% 6LH 3,480
o=y MZ % 22 1,500, 00024 +1CH 1,500
OBANBIEA SXDAHl 650,002 *1270 4 7,800
OBM H4E o D0H4Z H4
2,100,0002 x23| x27H 2 8,400
OFAM 2o &5 1,134,002 6] 6,804
OBABEA ALSEI| RN B4
27,9202 +12% 3,336
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BN 3,400 +12,808 43,548
—AGA 1,0002!+12,808 2,808
— LA 5002 * 12,808 6,404
BAALS .22 s 302,000 238,478 63,502
401 AlEHIL2CH] 302,000 238,478 63,502
01 Al&H| 302,000 238,478 63,502
OBA A72 242A 100,000,000 14! 100,000
OFAIY 28 L E5t ATSA
20,000, 0002 * 141 20,000
OTE TN BOIAM MXITA
45,000, 00021 * 14! 45,000
OF BHNE2 FUIZA 25,000,008 14! 25,000
OBU BILBINRS SXIZA
7,000, 00021 *64} 42,000
O2IRA LEDSIIT BA 25,000,008 14! 25,000
OE2 EPSA 2FEH HHIBA
20,000, 00021 * 14! 20,000
OBBIE ARY ®F =2 DAHBM
25,000, 00021 * 14! 25,000
223 o WA 405,311 423,011 A17,700
201 Yer2 Y| 405,311 423,011 A17,700
02 IT2YH| 405,311 423,011 A17,700
OB Hot4E 22 4,000,0002! +122 48,000
O #II123 197,146
—-JIgE 6., 3002 900k 122 68,040
-M8E8 129,106,000% 129,106
OBM BAHLRLS 2,400,00094 +25| 4,800
OB DERLTLS 3,000,0002!+13] 3,000
OJNAAND Hia HelwH 200, 00021 %13 200
OAY U SAYES, ®I| AW DT 442
80,0002 13l 180
OB A 2Y| 10,000,000% * 122 120,000
OZAJIA AIB2 800,0002 128 9,600
Ol BARX 242 280,000 20}« 122 6,720
OAYANLS BARNBLE 275,008 <128 3,300
OIIAA 42 450,000 13l 450
OFIINLS oHFBE| @442
992,860% 122 11,915
ZOIME SAFEA AEBA 30,000 200,000 ~170,000
401 AIEHIL2CH] 30,000 200,000 ~170,000
01 Al&H| 30,000 200,000 A170,000




2N 2YT S22
d: SE2X0l HA2Y
SRl HANA 2E Y SRBL (sl &
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0] & o8
OBsls, MBS FoME LARA ZHY)
15,000, 000& *x24! 30,000
ZE2XtE 2l 250,444 336,075 A85,631
ZEXE 2L 45,000 152,000 A 107,000
405 XHAFSH| 45,000 152,000 A 107,000
01 MY =S EF SHI 45,000 152,000 A 107,000
OEMAFS XFH&fF (Al 77) 45,000,000 = 1CH 45,000
2EXE A 22 205,444 184,075 21,369
201 Et24d| 205,444 184,075 21,369
02 s=529H| 205,444 184,075 21,369
OESXE 2HIE F=2 3,000,000& 23] 6,000
o2 Se2ds 420,000& *56CH 23,520
O&EXE MHsIHA 50,750& x56CH *23| 5,684
Oo&Exe Sl 3,000, 000& 56 CH 168,000
O2EXNE HIHA =2 40,0003 *56CH 2,240
HYSHHH(BYF &2 26,129,787 25,209, 154 920,633
= 107,319
Al 26,022,468
EETIIES) 25,849,452 24,918,894 930,558
= 107,319
Al 25,742,133
ol 2H | 25,742,133 24,801,017 941,116
101 Q1A H| 22,796,685 22,052,046 744,639
01 B 20,353,631 19,465,989 887,642
o=s2 10,762,254
—43 5,120,250& x 1H x12& 61,443
=] 2,919,300 *33H x12& 1,156,043
—6= 2,427 , 4003 818 x 12& 2,359,433
—-7= 1,816,000& x 174 x12& 3,791,808
—8= 1,273,500 x87H x12& 1,329,534
—9= 973,900& x56H x12& 654,461
—Jls62 2,485,400& x3H x12& 89,475
—Jls72 2,065,000& * 128 x12& 297,360
—Jls8= 1,821, 7003 418 x12& 896,277
—J|ls9= 1,505,000& x7H »12& 126,420
odz2==Y 10,762,254 ,000& *1/12%96% 860,981
Os==¢ 370,152
— S At 40,000& *0.78*495H »12& 185,328
—& HlE 20,0003 *1.48%x495H 12& 175,824
ol | DNIEE=) I FN = 30,000 x25H = 12& 9,000
OXESHIE X4 158,043
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O&2=¢ Jtita 395,520
—204 0| 100,000 x153F x12& 183,600
— 154 0| 80,000& x131H x12& 125,760
—10= 0| 60,0002 x63%H « 122 45,360
—5E0l4 ~ 10&0/¢8t 50,0003 68 x12& 40,800
O&EZa+Y FItet3a 36,120
—2548 0| & 30,000 *x74H « 123 26,640
—2049 0| & 10,000 79 123 9,480
ORIgz2f+g 40,0003 118~ 12& 5,280
OURERE=E 122,434
—42U =2 2,919,300 x2% *4.8/100« 12& 3,364
—5=2U=< 2,427,400 x 168 x4 . 8/100« 128 22,371
—6=U= 1,816,000 x61H 4 .8/100% 12& 63,807
—7=i= 1,273,500 *7H «4.8/100« 12& 5,135

—Jls6=U<
2,065,000 x5% *4.8/100« 12 5,948
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1,821,700& x15% x4 . 8/100% 128 15,740

—JlssgU=
1,505,000 72 x4.8/100x12& 6,069
OS¢ 22,800
—J=gR=g 22,800
- 55 50,000 x»4H «12& 2,400
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201 Y2 Y| 10,000 2,000 8,000
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01 AtR2elt| 5,500 0 5,500
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1,300, 0002 123 15,600
OXEA 8 & = ol 250,000 8% 2,000
02 222%H| 647,960 0 647,960
O2Z22=2 2 HMA 641,000
—-SJIRBER2 1,75024 140,000 245,000
—UBIRTE 2 25024 1,500,000 375,000
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
—SOIREEIER
1,500 *140,00024 %10/ 10021 21,000
OA&ZEE SXHI 6,960
— D=0l K TRIE (DS9045F) R 24t
250,000 #1CH* 122 3,000
—HSTYR S0zt KX 24|
330,000% * 10« 128 3,960
202 01t 2,160 0 2,160
01 =Uj0i ] 2,160 0 2,160
ONEAD ZFO0IHl 10,0002 +32i 63|« 128 2,160
203 Y=Y 850 0 850
03 AlZZ=T QR =Y 850 0 850
OFIIZ2 24 WSS 850,000 850
405 X+arE S| 4,562 0 4,562
01 XML SEFH S| 4,562 0 4,562
OLHEN WS 28I (A7)
4,562, 0002 1CH 4,562
BHSAZH(2LT NP2 113,400 0 113,400
ol 2| 35,400 0 35,400
ol 2| 35,400 0 35,400
203 YREZY| 4,200 0 4,200
04 BASHAREAY| 4,200 0 4,200
ORN2EAREAY) 350,000 *122 4,200
204 MY 31,200 0 31,200
03 SHYL+HT S| 31,200 0 31,200
oNegY 10,0002 x26% *122 31,200
ol =2 bl 78,000 0 78,000
2 78,000 0 78,000
201 Ygreg| 37,440 0 37,440
01 AtR2elt| 37,440 0 37,440
ORN2H| 60,0002 %2681 x 122 18,720
BI=T] 60,0002 x2621 x 122 18,720
202 01t 40,560 0 40,560
01 =Uy0i | 40,560 0 40,560
OJl=g L= ot 130, 0002 x262 *122 40,560
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SN 2YT FUMBRAD
Ha: 250z JE
ool AHE HYRE X4 (e
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 O A+ 24 il i~ o Rz
SUNYF o 5,800 5,800 0
201 Yer2g| 5,800 5,800 0
01 AtR2elt] 5,800 5,800 0
OE¥NYE 25 L 23 4,800
-gnYne 2000002 *122 2,400
—2sYURE 100, 00021 *25] 1224 2,400
OSSTAT DS 2 L #29 HE
500,000 %23 1,000
MBS S4 42,000 39, 100 2,900
I HSH 2Y 36,000 35,500 500
FHZI| MEHSHS 36,000 35,500 500
201 Yereg| 11,000 10,500 500
01 AtR2elt| 1,000 1,000 0
OMS A 231 LB 8| 1,000,0002 1,000
03 A2 Y| 10,000 9,500 500
ORPHEI SUE HEXA(S7, HOER)
250, 0002 2074 = x27 T 5] 10,000
307 2120/ H 25,000 25,000 0
04 QIBALR X 25,000 25,000 0
ORI178 REEI| HILUAMKE 5,000,000 5,000
ORm178l 7EHI| 203 5,000, 0002 5,000
ORI163 TEEI| BHSYIEMHS  5,000,0008 5,000
ORMI153 REEI| HOIESHS  5,000,0008 5,000
ORX5al PHEI| =703l 5,000, 0002 5,000
SRS AL 6,000 3,600 2,400
SHHSAL HH L SN 24 6,000 3,600 2,400
201 Ygreg| 4,000 3,600 400
02 222 Y| 4,000 3,600 400
OXMSAE Z2L3 200,000 %27 A 102 4,000
401 AEHILS ] 2,000 0 2,000
01 Al&t| 2,000 0 2,000
OSUIHSAE RX el 2,000, 0002 2,000
PNERCERETREPF 64,900 74,900 10,000
= 6,000
Al 58,900
AFMBLE RY 49,700 59,700 A10,000
= 6,000
Al 43,700
HAW BRY 2Y 49,700 49,700 0
= 6,000
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20
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Al 43,700
307 2120l & 49,700 49,700 0
S 6,000
Al 43,700
05 RIZtRE S 49,700 49,700 0
OFAEHSRY 24 49,700,000& 49,700
S 6,000
Al 43,700
FaHE B35 15,200 15,200 0
Hd4Y Roistd3gs & 3,600 3,600 0
202 O4dl 3,600 3,600 0
01 =LHAOYI 3,600 3,600 0
OFoflgda &= 20,0003 x5 »33| 123 3,600
AW M S 11,600 11,600 0
201 LEH2HH| 11,000 11,000 0
01 AtS2t2ibl 11,000 11,000 0
(OF=E~IC IR +=EH
1,000,000 =14l 1,000
(OF<ENI=RPNE=S . 50,000& 200 10,000
301 Let2a= 600 600 0
10 HALAHIE &= 600 600 0
OFAEXNESR = 600,000& 12l 600
MNASE dEotd & 11,685,299 16,473,508 A4,788,209
= 8,020,560
= 1,097,657
Al 2,567,082
=D =dE2E N2 10,378,604 15,481,308 A5,102,704
= 7,265,023
S 934,074
Al 2,179,507
Z2ASSH X 61,979 67,392 N5,413
= 43,385
= 5,578
Al 13,016
301 LetEas 61,979 67,392 AN5,413
= 43,385
< 5,578
Al 13,016
01 MaIE2EH 63 61,979 67,392 AN5,413
OZ22a2S3H X 61,979,000 61,979
= 43,385
= 5,578
Al 13,016
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= H W

8,101,254
5,670,878

729,113
1,701,263

11,380,437

N3,279,183

= N W

8,101,254
5,670,878
729,113
, 701,263

—_

11,380,437

A3,279,183

8,101,254,000&

= H W

8,101,254

8,101,254
5,670,878

729,113
1,701,263

11,380,437

A3,279,183

= H W

—_

,934,046
,353,832
174,064
406, 150

—_

3,156,083

A1,222,037

= N W

—_

,934,046
,353,832
174,064
406,150

—_

3,156,083

A1,222,037

1,934,046,000&

= Hn N

1,934,046

,934,046
,353,832
174,064
406,150

—_ .

3,156,083

A1,222,037

= MW

226,325
158,428
20,369
47,528

447,369

N221,044

=z HnH

226,325
158,428
20,369
47,528

447,369

N221,044

226,325,000&

= H W

226,325
226,325

158,428
20,369
47,528

447,369

N221,044

= H W

55,000
38,500

4,950
11,550

60,333

A5,333

o

55,000

38,500
4,950

60,333

A5,333
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121

11,550

= MW

55,000

55,000
38,500

4,950
11,550

60,333

A5,333

= HnH

404,650
160,840

73,143
170,667

648,000

A 243,350

= HnH

170,000
136,000
10,200
23,800

100,000

70,000

= H W

170,000
136,000
10,200
23,800

100,000

70,000

170,000, 000&

= N W

170,000

170,000
136,000
10,200
23,800

100,000

70,000

=

3,600

1,080
2,520

3,000

600

=

3,600

1,080
2,520

3,000

600

= H

3,600
3,600

1,080
2,520

3,000

600

= Hn N

31,050
24,840
1,863
4,347

9,000

22,050

= HnH

31,050
24,840
1,863
4,347

9,000

22,050

31,050,000&

=z HnH

31,050

31,050
24,840
1,863
4,347

9,000

22,050

200,000

536,000

336,000
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60,000
140,000

=

301 et ez 200,000 536,000 /336,000

60,000
140,000

=

01 A2 H+6l= 200,000 536,000 /336,000
ORIt Ret=s 200,000,000& 200,000

60,000
140,000

= H

Aess eSS s A 733,070 344,200 388,870
513,149
65,976
153,945

= N W

&2 =2 ArgHl(=4l) 663,300 310,000 353,300

464,310
59,697
139,293

= HnH

101 1A 663,300 310,000 353,300
464,310
59,697
139,293

= H W

04 JIZAHZ2HSE= 663,300 310,000 353,300
OXEZ =AY (=HI) 663,300,000 663,300

464,310
59,697
139,293

= H W

5|2 SEH(IHE) 69,770 0 69,770
48,839
6,279
14,652

= N W

301 LutEas 69,770 0 69,770
48,839
6,279
14,652

= NN

H=0l= 69,770 0 69,770
OslU =S EAE 69,770,000 69,770
48,839

6,279
14,652

= HnH

DI AN O [ 2 = &I 168,975 0 168,975
81,548
24,464
62,963

= HnH

NEISXESMHEANSQA (DIMOIFHASQR) X 163,005 0 163,005
81,548
24,464
57,083

= H W




SN 2YT FUMBRAD
HEl: YASS MBOF X
CHol: DIMOIE B =X (B9 &)
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
101 Q1248 163,095 0 163,095
= 81,548
= 24,464
Al 57,083
04 JARZRIIS S 163,095 0 163,095
OMBISXSSNUIATS28 Q124Y|
163,095, 0002 163,095
= 81,548
= 24,464
Al 57,083
SEAE =XME 2% 5,880 0 5,880
201 Yer2g| 5,880 0 5,880
01 AtR2elt] 5,880 0 5,880
ORSLSHE AREF Asr2gH|
5,880, 0002 5,880
Sa0Es U X 13,100 17,400 A4,300
QESHY X2 13,100 17,400 A4,300
SUIDAYT LAK BL42 10,000 14,000 4,000
201 Ygreg| 10,000 14,000 4,000
01 AtRZelt| 10,000 14,000 A4,000
ORDHA A N 2D 442
2,000, 0002 *524 10,000
SESHAT 25U N 600 900 A300
307 212+0IH 600 900 A300
01 2YRRY| 600 900 A300
OSESHAT 25 600
—oigl 2 Al 30,0002 *20% 600
AL FHH K 2,500 2,500 0
307 2120/ H 2,500 2,500 0
01 2YRRY| 2,500 2,500 0
OZAALT FHIYI 500,000 *5% 2,500
2RI= g 17,688,084 1,037,149 6,650,935
= 4,036,574
s 162,982
= 2,991,895
Al 10,496,633
SN 15,751,960 9,218,771 6,533, 189
= 3,739,498
= 2,120,674
Al 9,891,788
ST, AMRE SAE X2 2,914,520 2,497,660 416,860
301 YLrBAZ 2,855,000 2,497,660 357,340




FA 2E FQME
g 2015 X2
el SR0ES (&9 HM
5 o AT
SAN-ZH-SA(FA) - NFAY - BES o bﬂ/‘\_“’” Hlw &2
01 A% 2,855,000 2,497,660 357,340
OAITHOl 2,106,000,000& 2,106,000
OA'mol 299,000, 000& 299,000
S Xt
300,000& *1,500& 450,000
307 elztold 59,520 0 59,520
06 283 59,520 0 59,520
ARoL = = 59,520,000 59,520
NASE A4 9,800 9,800 0
307 21201 & 9,800 9,800 0
05 RIZtRE S 9,800 9,800 0
HASE N B=Al 22 N
9,800,000& 9,800
BEUAN B0 20,050 22,000 21,950
= 8,020
[ 6,015
Al 6,015
301 YprE At 20,050 22,000 A1,950
= 8,020
< 6,015
Al 6,015
10 HAIMHIE LS 20,050 22,000 A1,950
OE=u=stH X2 20,050,000 20,050
= 8,020
< 6,015
Al 6,015
QIZIESAIE BESWAL LML 1,236,500 1,125,932 110,568
[ 247,300
Al 989,200
307 212t0| & 1,236,500 1,125,932 110,568
[ 247,300
Al 989,200
02 elztA A 1,236,500 1,125,932 110,568
plzte SRKWAF HRIAH
1,236,500, 000& 1,236,500
& 247,300
Al 989,200
ZHOHOF, &otgt 153,667 134,900 18,767
< 46,100
Al 107,567
307 elztold 153,667 134,900 18,767
< 46,100
Al 107,567
02 ezt & 153,667 134,900 18,767




2A: 2Y? FOMEX L
dM: Bt XA
Hel: GRES CEREED
= = o HE T =
2N -3 - c2(3H) - NEME - HES Ol &F2H '@E% Hns
OXOOF € Hotet ME WA E+22E
153,667,000& 153,667
< 46,100
Al 107,567
SESAE P 191,500 148,750 42,750
307 QIZtolA 191,500 148,750 42,750
05 oIzt er=2 191,500 0 191,500
OolI2t, JIEES A Wty XI&
191,500,000& 191,500
BSAE 0ls 2tAald| 873,300 648,300 225,000
307 QI2tol& 873,300 648,300 225,000
05 2I2tRE= 873,300 648,300 225,000
OB=2AI& 0ts 24| 873,300,000& 873,300
SRAIE WHWFH X 103,968 120,346 N 16,378
= 41,587
= 18,714
Al 43,667
307 QI2t0| A 103,968 120,346 N 16,378
= 41,587
= 18,714
Al 43,667
02 QI2tBZAE X 103,968 120,346 AN 16,378
OBSA4E WM PH X 103,968, 000& 103,968
= 41,587
= 18,714
Al 43,667
BSAE BIISAIE XA 28,500 0 28,500
301 LEt8 A= 28,500 0 28,500
12 JIEtE A= 28,500 0 28,500
OB=SAE Eitols K& 28,500,000& 28,500
BSANE BIISAE =2 X 3,000 0 3,000
307 QI2tol& 3,000 0 3,000
02 QIZtBAE X 3,000 0 3,000
OEESAIL "IIE 42 3,000,000& 3,000
AZIAESE BSAHd 2K 20,134 16,800 3,334
= 6,040
Al 14,094
307 QI2tolA 20,134 16,800 3,334
= 6,040
Al 14,094
02 QI2tBAE X 20,134 16,800 3,334
OAZIAEE BE=Ald 2G X3 20,134,000 20,134
= 6,040




2A: 2Y? FOMEX L
dM: Bt XA
Hel: GRES (&9 HM
_ _ HAG
2N -3 - c2(3H) - NEME - HES Ol &F2H bﬂ/‘\_“’” Hns
| Al 14,094
BSAE EKUA MSAD|UR 9,020 4,461 4,559
201 Let29H| 1,000 1,000 0
01 AtR2t2ldl 1,000 1,000 0
ORO0F & &= Ldet=EH| 1,000,000& 1,000
301 LEtEAZ 8,020 3,461 4,559
10 AIAHIBAZ 8,020 3,461 4,559
OBSAE BESUAI I2AI|DS 8,020
—2AIZ2 500,000& *23] 1,000
— M &4l 10,000 *270H x23] 5,400
— 2HAMH| 3,000 *x270H x23| 1,620
E=AM4 01018 Otsd=s K& 78,500 78,500 0
= 31,400
< 14,130
Al 32,970
301 et A= 78,500 78,500 0
= 31,400
= 14,130
Al 32,970
01 AMIEEESGE = 78,500 78,500 0
OAl&0I0IE Ots¢=Xa 78,500,000& 78,500
= 31,400
= 14,130
Al 32,970
FAHe 282 I 680,270 1,243,534 A563,264
< 136,054
Al 544,216
301 Let8 A3 680,270 1,243,534 A563,264
< 136,054
Al 544,216
01 M EEXE G2 680,270 1,243,534 A563,264
OFgud B2 X 680,270,000 680,270
= 136,054
Al 544,216
s 228 XN 2,733,969 2,136,108 597,861
= 1,093,587
= 492,115
Al 1,148,267
301 LEtB A= 2,733,969 2,136,108 597,861
= 1,093,587
< 492,115
Al 1,148,267
01 M EEAE 6= 2,733,969 2,136,108 597,861
oxseEszs Xd 2,733,969,000& 2,733,969
= 1,093,587
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0
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o7 DM
SItE X
SEE

M- (B H) - HEAY - B2 Al OH &EIE Hn=2
co=m s IR ° - = S = =5 0:”/|l|,% Lsa

& 492,115
Al 1,148,267

SI5NI0F RAE = 213,406 212,470 936
= 85,362
& 38,413
Al 89,631

301 LEEA S 213,406 212,470 936
= 85,362
& 38,413
Al 89,631

01 AFEIEEHA 213,406 212,470 936
OB5AI Ot 213,406,000 213,406
= 85,362
& 38,413
Al 89,631

H0Hot fAEFZ X 260,317 459,720 A 199,403
= 104,126
& 46,857
Al 109,334

301 LetEAZ 260,317 459,720 A 199,403
= 104,126
& 46,857
Al 109,334

01 Atel2&H 260,317 459,720 A 199,403
OZ ot 2 260,317,000 260,317
= 104,126
& 46,857
Al 109,334

SHHAY B2 X 283,140 283,140 0
= 113,256
= 50,965
Al 118,919

301 LEEAZ 283,140 283,140 0
= 113,256
& 50,965
Al 118,919

01 AtBIEEH 283,140 283, 140 0
OSFXtH0| 283, 140,000& 283, 140
= 113,256
& 50,965
Al 118,919

ESAE SAL 100,000 47,550 52,450
= 40,000
& 18,000
Al 42,000

307 QI2tol™ 100,000 47,550 52,450
= 40,000
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SN B HR(BH) - HIRAY -

0
g
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I
=
[
12

=P

R
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o
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IS

18,000
42,000

=

100,000 47,550 52,450

O
>

o
N
e
e
oo
0z
0 H
FA

e
o

SFA4 el2d X2

100,000,000 100,000
40,000
18,000
42,000

= HnH

JleE2sg XN& 5,491,262 0 5,491,262
2,196,504

988,427
2,306,331

= HnH

301 Let2a= 5,491,262 0 5,491,262
, 196,504
988,427
,306, 331

no

= HH

2
Ll 5,491,262 0 5,491,262
OJle B2 JA 5,491,262,000& 5,491,262
2,196,504

988,427
2,306,331

= H W

SOt 28 K& 64,137 0 64,137
25,656
11,544
26,937

= H W

307 GI12t0lH 64,137 0 64,137
25,656
11,544
26,937

= NN

02 2itA3AE

64,137 0 64,137
64,137,000& 64,137

25,656
11,544
26,937

@)
A2
nE
(=}
S
4 M
H
o
HU
=
o

= MW

ERANE 228 & 283,000 0 283,000

307

(m}
r
=
[l

283,000 0 283,000

r

02

=
~
o

283,000 0 283,000
138,000,000& 138,000
SHIX& 145,000,000 145,000

> H

k0

O O

T
0 gy
v
i
W
4
o

H0 Ao

=
nx

ots=X X2 1,601,859 1,605,855 A3,996
171,514
162,982
824,026
443,337

= HHD W

A2EAHINE 2 JHERIE0ts N 13,040 12,542 498
6,520

H




SN 2YP FOMBRAD
Ha: B8IIE A
ool Ols=X X (649l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
A 6,520
301 Yere a3 13,040 12,542 498
= 6,520
Al 6,520
01 AFEI2H= 4513 13,040 12,542 498
OAEAEIIE L LS N
13,040,000 13,040
= 6,520
Al 6,520
AEAHIIE S5 N 5,880 5,040 840
= 588
Al 5,292
301 LptEAZ 5,880 5,040 840
= 588
Al 5,292
01 ABI2EE453 5,880 5,040 840
OAEAEIE KU X2 5,880,002 5,880
= 588
Al 5,292
I PIEOLE XY 36,120 27,720 8,400
= 3,612
Al 32,508
301 LptE A 36, 120 27,720 8,400
= 3,612
Al 32,508
01 ABl2 =462 36,120 27,720 8,400
OJIHL0IS YKH X2 36, 120,000 36, 120
= 3,612
Al 32,508
ZA0LS SAXNH(BY X, 5, H4) 810,210 893,976 83,766
= 162,982
= 405,931
Al 241,297
301 LB A 810,210 893,976 183,766
= 162,982
= 405,931
Al 241,297
01 AEI2H 252 810,210 893,976 83,766
OZAOISZAXS (HY X, 5, A4)
810,210,000 810,210
= 162,982
= 405,931
Al 241,297
ZAI0LE AN (YSE F4) 102,726 204,750 A102,024
= 51,363
Al 51,363
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cHel Bl (S A
A -3 -H2A(SH) - HEAMY - BES Oil &F oK gl,'igig Blns2
O&zalt E4+3A 800,000,000 *0.63/100 5,040
Xz A8Hd HHISA 915,733 0 915,733
401 AIEHIZ 2O 915,733 0 915,733
01 Al&HI 910,000 0 910,000
OQuitz 248Hd HUISAH 3,500,000 *x260a 910,000
03 Al =20HY| 5,733 0 5,733
OuXtz 288d HUISA
910,000,000& *0.63/100 5,733
FU=SJAY 100,000 100,000 0
401 AIEHIZ 20 100,000 100,000 0
01 Al&H| 100,000 100,000 0
O =2 At I 100,000, 000& *14] 100,000
TZANE2 FA2e 11,602,494 8,659,655 2,942,839
TZANE FA22 2 67,660 49,640 18,020
201 Let243| 67,660 49,640 18,020
01 AtR2t2lH| 5,000 0 5,000
OHESAt AHEZZ2OH 5,000,000 14 5,000
02 B2l 60,700 47,400 13,300
OA&EHI =Xl 2eltl 60,700
—nEgag =5 1,000,0002! 23] 2,000
—=4| 7,000,000 = 1CH 7,000
—XStEE LHE CCTV 800,000& *39IH & 31,200
—=n s2J| X222l 500,000 =41CH 20,500
03 AAIZZEHI 1,960 2,240 A 280
Oz==2z2 Hol9e 2d4+g
70,0003 x7H x43] 1,960
s ¥ 8)|lA A%EA 15,000 15,000 0
201 LBt 15,000 15,000 0
02 B2 15,000 15,000 0
OssFLEI L2 AHEH 15,000, 000& =14 15,000
EZ2sXN2el A2 130,000 0 130,000
206 M= Hl 130,000 0 130,000
01 M=z 4l 130,000 0 130,000
OJEES ¥ 2HOS 24RM 7
50,0003 x10&* 1004 50,000
OSZE4N L GHHEE 7Y
10,000 *8,000% - JH 80,000
s AL 2Y 1,700,000 1,480,809 219,191
307 QI2tol™ 1,700,000 1,480,809 219,191




2N 297 T2
I‘IiH: CEA'/\*EI-E|

& S2AIdE sl (ctel: &
SN HB G (BH) - MRAY - BES 0l & e Hlm= 2
05 BIZtRE = 1,700,000 1,480,809 219,191
O387 A& 29|
1,700,000, 0003 * 14 1,700,000
g SA2el 23 At 905,670 805,040 100,630
401 A &HIYL 2048 905,670 805,040 100,630
01 Al&H| 900,000 800,000 100,000
Otil== ZH| 50,000& x1,000m 50,000
OX=0IBE=S 1,000, 000 *100m 100,000
ORg(EH)E=+ 100, 000& *2,000m 200,000
Outh 8 xS 200,000,000& *14] 200,000
OuHHFX, H2t S 250,000,000 *14] 250,000
OHIIANEZ2 EHI 100,000, 0003 * 14 100,000
03 Al 20HY| 5,670 5,040 630
Oug szl Ex3At
900,000,000& *0.63/100 5,670
HY & W, XotE A&8EH 29 399,600 300,000 99,600
401 AM&HIL 2048 399,600 300,000 99,600
01 Al&H| 399,600 300,000 99,600
(@FSPIF=ie=! 240,000
— e 60,000,000& *23| 120,000
—JIEtAI A 60,000,000& *23| 120,000
OHZEH 10,000,000 * 124 &~ 120,000
OH=EZ 3,300,000& *120H & 39,600
BT A2 gl B3A 684,095 130,000 554,095
206 M=l 30,000 30,000 0
01 MH=Z=Hl 30,000 30,000 0
Oss+ Bt 7 15,0002 20000 =105 30,000
401 AIEHIZ 2 Y] 654,095 100,000 554,095
01 Al&H| 650,000 100,000 550,000
O3s+ NEE |SX&el E
100,000, 0003 * 14 100,000
O3+ NsHAH48l A 100,000,000 *14] 100,000
O3+ A=sME X EZHIOHH
150,000, 0003 * 14 150,000
O3+ ZLUCHMAC 300,000,000 =14 300,000
03 AIE=20bI 4,095 0 4,095
O2=7 ANEE RX&el BE+=3A
650,000,000& *0.63/100 4,095
KotXE Ald2 |SAZel Ex3At 1,102,670 499,880 602,790
206 M=l 197,000 97,000 100,000
01 M=H| 197,000 97,000 100,000




A € D22
F: T2 Aldzel

ol CRAILS Rxe (Erol: @2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
og= 60,0003 *1,200H 72,000
Oetd D] 50,000& 1,500H 75,000
OJIEtE =Xt 50,000& *1,000H 50,000
401 A EHIL 201 905,670 402,880 502,790
01 Al&tt] 900,000 400,000 500,000
O&=8 & =3F=4 5,000,000 2001 23] 200,000
Ogs#H = 23clEE+  200,000,000& 14! 200,000
OANE=E &M 20,000& x5,000m" 100,000
OJIEAE S 24 (B2, 31234 S)
5,000, 000& 2074 A 100,000
OFEI| - S8 S ANE2FY|
300,000, 00024 14! 300,000
03 AIZ20i4l 5,670 2,880 2,790
OXNGHIE A&S RTZE 24TA
900,000,000 %063/ 100 5,670
we L Ko E(HE) SHES3A 302,160 0 302, 160
401 A EHIL 204 302,160 0 302, 160
01 Al&HI 300,000 0 300,000
ORY 2 NSHHE(HE) =HZLTA
2,000,000 * 150 300,000
03 Al&Z =204l 2,160 0 2,160
ORY 2 NSHHE(HE) =HBLTA
300,000,00021%0.72/ 100 2,160
Xot2E |X22 SAt 231,656 100,900 130,756
401 A EHIL 201 231,656 100,900 130,756
01 Al&tt] 230,000 100,000 30,000
OZ4V(57) &4 ¢ H2
80,000,000& *14! 80,000
OJEN AR L (EY, 31Y4 S)
50,000,000& *14! 50,000
O&EIIANEESEHI 100,000, 000& » 14 100,000
03 Al =0htl 1,656 900 756
OXotEE KX 2el3At
230,000,000 *0.72/100 1,656
KotXE | X2 1,706,120 1,445,083 261,037
401 Al&HI YL =R OHYI 1,706,120 1,445,083 261,037
01 Al&H| 1,700,000 1,445,083 254,917
OXBHRE SXR2lHl  1,700,000,0002 14! 1,700,000
03 Al =204l 6,120 0 6,120
OXBHRE szl
1,700,000, 0002 %0.36/100 6,120
Notxte otdate| = 39,000 26,400 12,600




A € D22
F: T2 Aldzel

Selr CEASE ]X2L (Etel: &8
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
402 BIZEXHEOIH 39,000 26,400 12,600
02 ©I2HCH S AL 39,000 26,400 12,600
OXIGIRE Q™Bel Y2
25000021 * 130 A %122 39,000
SREXE ZHIZA 241,728 241,728 0
401 Al HIL2OHY] 241,728 241,728 0
01 Al 240,000 240,000 0
Oals 2 Wil 8,000,000 %1074 £ 80,000
Osormtl S 250, 000! *640 160,000
03 A&l 1,728 1,728 0
OZZEXBIHIZ A 240,000,0002 %0.72/100 1,728
SI220| FHIBA 302, 160 302, 160 0
401 AlEHIL 2T 302, 160 302, 160 0
01 Al 300,000 300,000 0
OY S0l FHIBA 300,000,0002 * 14} 300,000
03 Al& SO 2,160 2,160 0
O 220l FUIBA  300,000,0002!%0.72/100 2,160
SERALE SMTA 201,440 100,900 100,540
401 AISHIL L] 201,440 100,900 100,540
01 Al 200,000 100,000 100,000
OZZAEE THBA 200,000,0002 * 14} 200,000
03 Al& =i 1,440 900 540
OZZAEE TABA
200,000,0002 0. 72/ 100 1,440
SEAEE FHIZA 2,163,995 503,600 1,660,395
401 AlAHIL 2T 2,163,995 503,600 1,660,395
01 Al 2,150,000 500,000 1,650,000
OZZAEE FHIBA 500,000, 0002 * 14} 500,000
O2YEsn F# HESXZeX TZHHIBA
800,000, 0002 * 14} 800,000
OF XIS BHEZSUX TZHHIBA
850,000, 00084 *14! 850,000
03 Al& SO 13,995 3,600 10,395
OZZAEE FHIBA
500,000, 0002 0. 72/ 100 3,600
OEg=sn T8 H=xe Z2HYIBA
800,000, 000! *0.63/ 100 5,040
OF NS SEZUX SZHHIZA
850,000,0002 0.63/ 100 5,355
HE W AHS 2RTA 1,409,540 402,880 1,006,660
401 AlEHIL LT 1,409,540 402,880 1,006,660




2N 297 T2
I‘IiH: CEA'/\*EI-E|

ool SRAAE X (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01 Al&| 1,400,000 400,000 1,000,000
BE Y FAHAH SLTA 200,0002%3,000m 600,000
OR0IS SRMAA-TOIAH 22 2EHY]
A 400,000,0002! *14! 400,000
OOLEHS SHEFeX ZHA ZUIBA
400,000,0002! *14! 400,000
03 Al& S OHY| 9,540 2,880 6,660
2E Y AN E2EM
600,000,000 +0.63/ 100 3,780
OT0IE RRMAH-TOIAHEI SEHY)
A 400,000,0002!%0.72/ 100 2,880
OOIEHE SR 24 HHIZ A
400,000,0002%0.72/100 2,880
H2S *x e 4,436,620 2,870,900 1,565,720
N2S Y PSS 29 3,530, 140 1,914,600 1,615,540
201 Yereg| 3,530, 140 1,914,600 1,615,540
02 222 Y| 3,530, 140 1,914,600 1,615,540
ONBHAE, BER, 2SS, BAS I3
287,550,0002 *122 3,450,600
OSEDN ZULTAAY SHEMR
300,000 *122 3,600
OJZ2S L XHRE SUSHY]
15,0002 x245)H £ 12 44,100
OIS, BAS MIINHEFA +42
250,000 *407H A 10,000
O3ZS7 M8slME 200,000 *3CH * 122 7,200
ONBIAE HOIEISAR 50,0008 =22CH 128 3,200
OSD 52| HOIESNE
50,0002 %2CH * 122 1,200
OSD &) HIaEse3
10,0002 *2CH x 122 240
S BLHY 503,600 603, 780 2100, 180
401 AEHIYL S 503,600 603, 780 £100,180
01 Al&| 500,000 600,000 100,000
OJ2S 242FH| 500,000, 00021 *14! 500,000
03 Al& =0t 3,600 3,780 A180
OJ2S 24FHl 500,000,000 *0.72/100 3,600
HoS P4FY| 402,880 352,520 50,360
401 Al&HIL 20| 402,880 352,520 50,360
01 Al&| 400,000 350,000 50,000
OBAS 22FH| 200,000 %2, 0005 400,000
03 Al& S CH| 2,880 2,520 360
OSOS 24FHl 400,000,000 +0.72/100 2,880




2N 2gT cRED
HE: #H2YAY (2R 222D
ool oz 2| (9l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
HZ2AAY (2YT 22D 366, 555 0 366, 555
oIz 2| 306, 155 0 306, 155
ol 2| 306, 155 0 306, 15
101 121yl 301,955 0 301,955
03 RINHA2E X4 301,955 0 301,955
O+29 244,307
-J=a 1,181,530 2 68 x122 85,071
—&0i3 1, 181,5302 *400/ 100+6& 28,357
—AI2bQIEE 6,380 x1.5+30AI 262 x 122 20,672
—HUD2aG 51,0402 %152 6 <122 1,005
— oG 51,0402 x6 2 x202 6,125
—erE Ay 100,000 %124 %122 1,200
== 90,0002 +6% 122 6,480
—Slgay 80,0002 x62 128 5,760
—SlMag 70,0002 x6% « 128 5,040
—2EIMMD 38,8928 %0.65+62 12« 128 21,842
—YEEI) 1,181,5302 *150/100+6% 10,634
—MEER 279,571,000 x36/1,000 10,065
L 1, 181,53021 %200/ 100+6% 14,179
~NELZY 140,000 x6% * 122 10,080
—youg A 80,0002 +6 2 122 5,760
S UEETIEE S -1E-E PY))
62, 40021 #4312 250
— TS SRS (DD A)
446, 7002 *45] * 122 1,787
eF:BlI 45,623
—Jlea 1,373,50021 +12§ ¥ 122 16,482
— 4013 1,373,50021 *400/ 100+ 1% 5,494
—AI2QI%E  6,92021%1.5+30AI 2+ 12122 3,737
—HYUDRAG 55,3601 52U 1122 1,993
— RS 55,3602 12 x202 1,108
—tE4g 90,0002 1« 128 1,080
—E4g 60,0002 12« 122 720
— Mg 30,0009 1122 360
—2EILMD 46, 1548065412 *20E <128 7,201
—YEEIIH) 1,373,5002 *150/ 100+ 12 2,061
— PRI b 1,373,5002! %200/ 100+ 1% 2,747
~DELZY 140,000 * 1%+ 122 1,680
—youg Al 80,0002 1122 90
O+ze, Iy 2l
6,00021+7% +202 « 128 10,080
oy EE 75,0002 7% 525




2N 2gT cRED
o S AYH(2YR 222D
Sl ol 2| (25l &2

M- B SR(B) - HRAY - BE S Ak e 2
O==23d, &J|& 1=l 200,000& »7H 1,400

203 HRF&H| 4,200 4,200

04 FN2IHRFAHI 4,200 4,200
OFRN2IHRF&HI 350,000& «12& 4,200

24 60,400 60,400

|=&Hl 60,400 60,400

201 B3| 28,800 28,800

01 AtE222lHl 28,800 28,800
ORAM23HI 60,0003 x20E x12& 14,400
O=&l 60,0003 x20E x12& 14,400

202 O4Hl 31,200 31,200

01 =LA b 31,200 31,200
OJI2HFF& NI 130,000 «20H » 12 31,200

405 KH&HFE SHI 400 400

01 T =S HSHI 400 400
OCIXIEotoliet (&l 51) 400,000 +1CH 400




SN 2R =3
M T A=A

Sl TAISE Y =XBY | (sl &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
297 SN2 10,901,057 11,231,752 330,695
= 89,894
= 25,474
Al 10,785,689
S A=3ALY 10,120,457 10,664,108 A543,651
SA=ss & sX32 4 10,120,457 10,664,108 A543,651
=XNAEE 722 2,139,959 1,598,257 541,702
201 et 3,000 3,000 0
02 =23l 3,000 3,000 0
Oz332= & HAl 3,000
—333X W II2S8 &I
250,000 =128 3,000
401 Al&HI LS OHYI 2,136,959 1,595,257 541,702
01 Al&H| 2,121,678 1,583,848 537,830
OOrE, Ollls 233X 2el3At 229,031
—&CI 20| 230& *45,900m" 32| 31,671
—QIE = 4403 *53,900m" 33| 71,148
—=37 2303 *114,200m *33] 78,798
—24=dF 550& x16,970m 23] 18,667
- 2703 %106,470m 13 28,747
ONE, 228 323X 223AM 229,129
—&CI 2D 230 *82, 100m* x32] 56,649
—QE M= 4403 +78,400m *33] 103,488
—=37 2303 *41,080m 33| 28,346
—24=8F 550& 20,360 M *23| 22,396
- 270 *67,590m" x 12| 18,250
O=U, ks 33X 2c3A 228,989
—&HCI 20| 230& %95, 100m* x32] 65,619
—QI=E = 4403 +82,400m *33] 108,768
—=27 2303 x20,800m 33| 14,352
— 2428 550& 17,600 m" x22] 19,360
-+ AH 270 *77,370m x12] 20,890
O==, F0ls S33X 22 3At 183, 160
— &I 20| 230 *81,300m" *33] 56,097
—QE = 4402 +68,900 M *33] 90,948
—=27 230% *9,700m *33] 6,693
— 2428 550 +9,300m" 23] 10,230
—<E==HA 270 *71,080m x 1] 19,192
OOtE, OIOHXI 7 D=3 e =RNAIEE 2
cl S At 137,378
—&CI D) 230 *35, 100m* x32] 24,219
— QI M= 4403 *35,900m" 33| 47,388




SN
X{ ZH -
S Tt

&

=g7 sASs3H

CAISEHAL Y
TAES o =XZ2 FH|

i

SNBSS - MEAY - BES

22
J2

20
B
2

—=37 2303 »47,200m 33! 32,568
—a4=8F 550& *14,340m 23] 15,774
—HE=N 2703 x64,550m «13] 17,429
O=UW, EXX7 &2 H SIALEE 2
cl S At 183,273
— &R0 2303 *36,900m" 33| 25,461
—oE = 4403 *37,900m *32 50,028
—=2I 2303 *113,500m" «32] 78,315
—24=8F 550 +8,700m «23] 9,570
-8+ 270& +73,700m 13l 19,899
OMoll=== MH & 2clI3At
90,000& #1,200= 108,000
OOkE, OIDi, MEs 333X s S 1=
HE B A 26,7303 %7, 1425 190,906
O=U, 8k, 22935 3334 s =Xl u=s
S A 26,7303 *7, 142 190,906
O3, F0ls 233X & =X U= &8F
S A 26,7303 *7, 142 190,906
O2EY3 sAAE2 2el3A
250,000,000 * 14! 250,000
03 A2 204bl 15,281 11,409 3,872
OOtE, OIS 833X 2cISAt
229,031,000 %0.72/100 1,650
ONE, E2E8s 33X 223A
229,129,000 +0.72/100 1,650
O=U, a3 333X 2cl3At
228,989,000 %0.72/100 1,649
Os=, F0ls 333X 2cl3At
183,160,000& x0.72/100 1,319
OOrE, OIHXI = LE3E2H SXAIES 2
cl S At 137,378,000 %0.72/100 990
U, EXAX7 DEEZ2H STAIES 2
cl S At 183,273,000& *0.72/100 1,320
OMoll== MH & 2el3At
108,000,000 %0.72/100 778
OOtE, OIDH, NEls 334X S =AU u=s
SE S A 190,906,000& x0.72/100 1,375
O=U, 8k, 28 5334 s =AU us
HE B A 190,906,000 *0.72/100 1,375
Oz==, F0ls 233X & =AU U=s &8F
S A 190,906, 000& *0.72/100 1,375
O+ sXAIE2 2el3SA
250,000,000 %0.72/100 1,800
2= & 84+ 72 2,727,139 2,462,328 264,811
401 AIEHIZ 20U 2,727,139 2,462,328 264,811
01 Al£Hl 2,707,535 2,444,300 263,235




FA: 27 sASEH
M S A=SHAY
&2 SAl=sE & =sX32 |
SA BB CR(SH) - NRAY - A S Aol e
OO0tE, OlOH, MES JIZ2= HESA
26,7303 +8,214= 219,561
O%U, XS H24 HYTA
26,7303 x5,357= 143,193
Oz, 232, 708 )2 dE3AM
26,7303 5,357 143,193
OLtel &E IS A 1, 190& 48, 000m 57,120
OOtg, Olfls &€& JI2 ¥ =A== Holl
= LHSA 145,393
— AR 24,233
ocuns 4, 7403 %11, 1505 +0. 2x23| 21,141
SRS 1,180& *6,550m" *0. 2+23] 3,092
— Ol Al 121,160
SETE 4,740 %11, 150 23] 105,702
o= 1,180& +6,550m" x23] 15,458
ONME, 23, 1E3E2Y g & X8
S dolls M SAt 125,808
— L HIEA 20,968
cus 4,7403%10,2503=+0.2x23| 19,434
SRE 1,180& *3,250m" 0. 2x23| 1,534
— Ol & Al 104,840
ocu= 4,740 %10,250F+23] 97,170
o= 1,180& +3,250m 23| 7,670
O, =U, s €& Iz € XE=3
Holls L MBS A 193,623
— A2 32,271
SR 4,7403 %15,9005=+0.2%23] 30,147
o= 1,180& *4,500m" 0. 2x23] 2,124
— Ol A 161,352
cus 4,740@ x15,9005=+23] 150,732
SRS 1,180& *4,500m 23| 10,620
0323, 70/, 15329 Jtgs & 28
=2 dolls ZHSA 193,618
— M 32,270
SETE= 4,740 +15,800F*0.2+23| 29,957
o= 1,180& *4,900m" 0. 2x23| 2,313
— Ol A 161,348
ocn= 4,7403 % 15,800 *23| 149,784
SEE 1,180& *4,900m 23| 11,564
OJt2= & =KW HELSR =2t=A 100,063
—goige 5,390% *5,850F*23| 63,063
—E4E 20,000& *1,850F=*12] 37,000
OOtE, OI0H, MEs & JtZ2 MFEH N
S A 237,454




SN 2R =3
M T A=A

=R EA=sS H =S5 JHl (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
— AL S A 376,690& x564%= 212,454
—HUREZANESHE 500, 000& *50m 25,000
Oxlf, X, 3, 705 Y& }=24 M=
B8 e SA 237,454
—HFSZ LS A 376,690& x564%= 212,454
—HUREZANESHY 500,000 *50m 25,000
OOtE, OIDH, MEls 22 JiZ2 =8 & o
T M= 2elSM 229,530
— M= 4403 *75,000m *32 99,000
— HOLHIA 5,370& +7,800F=+23] 83,772
=HME 550 +12,750m*32 21,038
—EFE4 350,000& x50 17,500
—SSAT(FISUER 2,0002 4, 1105 8,220
ORg, +U, INE LY 24 45 U 0
S M= 2elSM 230,614
—N= 4403 +72,000m" *32 95,040
— WOLMIA 5,370& *5,860F*23] 62,937
—=HdE 550& %13, 125m*33] 21,657
—EFE4 350,000& »50== 17,500
—=SAW(FISUR) 2,000& x16,740= 33,480
022, 70, I48E2 Y I} 43 o
oI M= 2tc2l3AM 184,191
— M= 4403 +71,700m x33] 94,644
— HOLAIA 5,370 *3,500F*23| 37,590
—=HEH 5503 +13, 125m*32] 21,657
—EFE4 350,000& x50 17,500
—=SAHFISUSR) 2,000& 6,400 12,800
OEs=+ & SXUH AU SN2 SA 266,720
25+ 2,500,000% x5 12,500
—2UR 57,0003 *4,460== 254,220
03 A2 204bl 19,604 18,028 1,576
OO, OI0H, MEls Jtz= H8ESA
219,561,000 %0.72/100 1,581
O=UW, 8Xs JtZ2 HESA
143,193,000 +0.72/100 1,031
O&dY, ==, 7#0IS )12+ HdESA
143,193,000 %0.72/100 1,031
Ofittel BESA 57,120,000& +0.9/100 515
OOtE, OIS €& 2+ ¥ ZF+== Hol
S 2 SAt 145,393,000 %0.72/100 1,047
ONE, 285 D&z XPx== Holls
2 SAt 125,808,000% *0.72/100 906
Oo=2d, =U, 3is 22 2+ &€ =F+S
dollE LM SAt 193,623,000 +0.72/100 1,395




SN
D EAISBIALY
EASS 2 =X

X ZH
(=]

el

e e

=)

i

b &

S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
O2=, 70| D481Ce J2s U 22+5
HolE M ZSAt 193,618,000% *0.72/100 1,395
Oz & SXUH HEUSR =2FA
100,063,000 *0.72/100 721
OOtE, OIDH, ME&s & Itz MsEH Y
&3 A 237,454,000 *0.72/100 1,710
O=U, X, 23, ?0ls 2& 2=+ 45
B LS A 237,454,0002 +0.72/100 1,710
OOrE, OIOH, MEs €& JtZ2+ =8 & ¢l
T M= Zel3A 229,530,000% *0.72/100 1,653
O=g, +U, 3NE LH K2, +5 U 0
T M= Zel3At 230,614,000 *0.72/100 1,661
O3=, 70|, 2532 22 JIZ2s, =4
2 OIE M= 223 AH84,191,000& +0.72/100 1,327
OBs=+ & =Xl 22U |SX2e3A
266,720,000% *0.72/100 1,921
t2std |2 1,200,935 525,208 675,727
101 el H] 34,894 34,894 0
04 JI2ZtMZ22XSE+ 34,894 34,894 0
O333X & 2RFyae AR 33,038
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OFURIME HBLE3 3,000,000%! 3,000
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30,000 x25H «12& 9,000
03 dArZEHI 5,000 5,000 0
OFQRX MY HSLHS 3,000,000& 3,000
O XIHE As Y WF 2,000,000 2,000
203 ERF&d| 600 600 0
03 AEFXHSFAH| 600 600 0
OAEAIMF=A 600, 000& 600
301 LEtE A= 83,060 53,100 29,960
10 SALAHIEA = 83,060 53,100 29,960
O XIHE XAHJASAA AHI24
20,0003 3258 123 78,000
OFUXXIHE Ald22] NHSALR AUl 24
20,0003 »1H 253 5,060
405 Kot S| 1,000 3,000 A2,000
02 STl 1,000 1,000 0
OFUXNXHE ST 1,000,000& x 13l 1,000
QIA2Xe 29 53,670 22,850 30,820
201 LBt 3| 19,950 19,350 600
01 AR 22| 10,800 10,800 0
OREss Qo= Qusgy)
900,000& x12& 10,800
02 2223H| 9,150 8,550 600
O0l&s fEHRZ 750,000& x12& 9,000
Obts 2HRZE 1,500& 1004 150
405 ItHatH S| 33,720 3,500 30,220
01 XL SSFHSHI 33,720 3,500 30,220
OZHO(&lF) 190, 0002 = 1CH 190
OBHI|I(AF) 330, 0002 *1CH 330
OSEoIasHLZI(&5) 9,000,000 *3CH 27,000
OLLSFILIEH(AR) 1,500, 000 *3CH 4,500
OX2AD| (&) 800,000 = 1CH 800
OF0USEHIE AN (&) 200,000 *1CH 200




A A0S
g3 A0S FUAXNLH 29

SERE

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
O=HZAIA (L) 700,0002 * 14! 700
suE 25 X 119,090 119,040 50
301 YerE A 119,090 119,040 50
05 £-2 - BHRESEAS 119,090 119,040 50
os&+g 2000002 332 * 143 92,400
OSH3|o #A4L 20,0008 *33% =23« 122 15,840
SERF3=, 25,0002 *217% 23| 10,850
WRe B2Y s 3,000 6,000 3,000
301 YerE a2 3,000 6,000 3,000
10 SAFAHIE &S 3,000 6,000 £3,000
OMBE BSY SHSI| BFL 0K S4lHl
6,000 %505 x23] 52 3,000
S BARY 83,996 67,480 16,516
=W EL] 83,996 67,480 16,516
201 Y2 ] 61,996 64,480 ~2,484
01 AtS22/HI 2,400 2,400 0
OMarel e 200,0002 12 2,400
02 2zl 59,596 62,080 ~2,484
OBZ2SLHAl 23,200
-PlE 1,500,0002 122 18,000
—sot+Eea 150,0008! » 128 1,800
—USIHH L 2EE 900,000 *1CH 900
—JIE 2223 2,500,0002! 2,500
Oet2H| 2,000,0002! 128 24,000
OAN &R IR I 8,796
—FIjord PR 442 93,0008 «12 1,116
—gaiee Y+ 120,0008! » 128 1,440
—S2o2el @442 170,008 «128 2,040
—201HY| 42 150,000 » 122 1,800
—JIE AIE KX 200,0002 122 2,400
Oxt S Xl 3,600,000 1CH 3,600
401 AIAHIL S| 22,000 3,000 19,000
01 Al£H| 22,000 3,000 19,000
OOl BOIAIL &X 8,000, 000! *14! 8,000
OZXHE CCTVE X 14,000, 000214} 14,000
FoSAAY 30,000 50,000 120,000
ZOIZEALE H| 30,000 50,000 20,000
401 AISHIZ 2] 30,000 50,000 20,000
01 Al£HI 30,000 50,000 £20,000




SH: POS
& A01s FLUANXHH 29
Crol: FOIBR A
S E O (EH) - MRAY - B s e
- o= T ° - (= (=3 =5 O:H{ﬂ,%
OF2 =2 At I 30,000, 000& 30,000
HY2AHH|(R01s) 70,119 69,458
oled 2| 36,639 35,978
oled 2| 36,639 35,978
101 Q14| 24,879 24,218
03 RIAHA2ZZHE > 24,879 24,218
OFAr2te| o8 24,879
=] 836,680& 12 10,041
A= 836,680 *400% 3,347
—JtAIXI& bl 836, 6803 *200% 1,674
—HEFOHY| 836,680 *150% 1,256
— w2 Xl 140,000& = 12& 1,680
—Z g A 80,000& x12& 960
— Pl 30,0003 +12& 360
s 80,000& 123 960
— A2t 4,4703 1. 5x15A| 2t 12& 1,207
—5222xE 35,7603 *1.5x22 «12& 1,288
— Xt 35,760 x16 573
—2HIt4a =
836,680 /243*8A| 2+ +65%+ (4«32 +5H «9& 1,021
)
—MHEEZ 24,367,000 *21/1,000 512
203 HRF&| 9,960 9,960
01 J|22IFRF&HI 6,600 6,600
OJI22ZHRF&H| 550,000& x12& 6,600
02 ZHRIAHSF=EIH| 360 360
OF At E R FAH| 40,0003 x9H 360
04 EA2IZRFEH 3,000 3,000
ORAMZZIHERF2AI 250,000 x12& 3,000
204 XA 1,800 1,800
01 Mg PR 1,800 1,800
Os& Mg JRFA 150,000& = 12& 1,800
Jl23| 33,480 33,480 0
Jl=3| 33,480 33,480 0
201 et 17,280 17,280 0
01 AR 22| 17,280 17,280 0
ORMZZHI 100,000& x9H «12& 10,800
OF=g=i:] 60,0003 x9F x12& 6,480
202 (4 H| 16,200 16,200
02 EHHYI 16,200 16,200
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Y Y 2HAHI(FO0S)
S J|=23H

SN CR(EH) - NRAY - BES el
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2N BRS
M XSXXISH &H 2 Z
Sl TIYXRISH HHB2IZ (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o B2
1] A 130
BIE FURNKME 2 277,640 579, 180 A301,540
ZOIRXIME B45 163,520 125,200 38,320
ZOIRAME 2 51,520 22,200 29,320
201 Ygreg| 16,800 13,200 3,600
01 AtR2elt| 13,800 10,200 3,600
OFQURKME2Y LrragH|
400,0002! *122 4,800
OFR I A3 3]0 &al 4
30,0002 25 « 128 9,000
03 A2 Y| 3,000 3,000 0
OFQRXIME HZLHES 3,000, 0002 3,000
203 HRFAY| 600 600 0
03 AR =R =AY 600 600 0
ONFAIR =7 600,000%! 600
301 YerBAZ 34, 120 8,400 25,720
10 SAFAIHI A 34, 120 8,400 25,720
OFURRIME KHRASAT Abl2a
20,0002 100 * 122 24,000
OF UMM AL 22 TRAZAT QY24
20, 00021 22 x25321 10,120
EEE IR 21,400 28,800 AT7,400
201 LByl 19,200 28,800 29,600
01 AtR22lt| 10,800 16,800 6,000
OPIRIS N HDER £8H 900,000 128 10,800
02 IZ2Y| 8,400 12,000 3,600
Oo0ls 2R3 700,0002! *122 8,400
405 THAHE S 2,200 0 2,200
01 XHAUSEFH S| 2,200 0 2,200
O4-019125 0144 (THA) 2,200, 0002 *1JH 2,200
SuZsH e 54,600 70,600 16,000
301 LB A 54,600 70,600 16,000
05 -2l -HPBS2BHI 54,600 70,600 16,000
OszE+g 200, 0002 152 * 143 42,000
OSH sl 20,0008+158+25/« 122 7,200
OPrzag 25,0002 * 1082 x23] 5,400
WRe 222 9HS| 6,000 3,600 2,400
301 YBrBAZ 6,000 3,600 2,400
10 BAHAHIE A2 6,000 3,600 2,400




S BDS
Yo BNS FOUNAMEH 29
©o: ZOINIXIME a8 EER-ED
_ _ _ Muo
M- E - S(3) - HRAY - BY2 Abou i HIRE
OMRe B2 0+SI| LHEA 0L 24 Al
Z 6,0002 ¥50% x25| « 102 6,000
grhiel g NE0edl =X 30,000 0 30,000
307 BI2t0IA 30,000 0 30,000
04 IZHEALE 30,000 0 30,000
O 2Ciel #E1=0eldl S/ 30,000,000 30,000
SHANRSY 84,120 423,980 339,860
YA S 84,120 57,280 26,840
201 ete gyl 84,120 57,280 26,840
01 At el 9,600 14,600 5,000
OTar2re| uts 800,000 %128 9,600
02 ZZ2H| 74,520 42,680 31,840
OZZ222 2 H 57,600
L 600,0002 600
—®I|23 2,000,000% * 122 24,000
—45t4E 23 250,0009! * 128 3,000
—-JIEBB23 500,000 * 128 6,000
— o2 2,000,000% * 122 24,000
OA&FHEl S| 13,320
—FI|otE e @442 1500008« 128 1,800
—gsizel sz 150,0002! * 12 1,800
—SAI|Tel EASZ 260,008 <128 3,120
—HA Y AIZE KXY
300,0009! * 128 3,600
—ROIAHIAIAY 8A2  250,000%* 12 3,000
OX X bl 3,600,000 *1CH 3,600
FoIHBAY 30,000 30,000 0
ZIZWAE F| 30,000 30,000 0
401 AlEHIL 2O 30,000 30,000 0
01 A& 30,000 30,000 0
OF 8= A 30,000, 00084 30,000
HHSAFY (HDS) 72,312 75,909 13,597
2 22| 38,052 33,949 897
22| 38,052 33,949 897
101 Q14| 26,332 27,149 ~817
03 IHA22RE S 26,332 27,149 ~B17
OFAt2e| oI 26,332
-Jl=3 836,6809 + 12 * 128 10,041
—Jlgsy 836, 6802 *400% 3,347




SA BDS
B BHSAHH (BDS
Erel: oleiz ety TR
S ED .S (B0) - NRAY - BAS ok o S ==
0f & o8
-z 4,4703 1 .5x15A1 2+ +12& 1,207
—5222Y 44703 x8A1 2Hx1.5+22 x 123 1,288
— X 4,4703A x8BAl 2+ x 18 644
— A A 80,000& »12& 960
— WSS A& 140,000 = 12& 1,680
—HEFIH| 836,680 *150% 1,256
—JtAIXI 2| 836,680& *200% 1,674
—2HIHA3
836,680 /243*8A| 2F*65%=* (8 x92 +9\H *3%) 1,773
—ItE==g 100,000& = 12& 1,200
—NEEHIEZ Y 90,000& *4:= J| 360
— PG 30,0003 +12& 360
—MUNEER 25,790,000 *21/1,000 542
203 R EWY] 9,920 10,000 A80
01 JI22I3LRF=&H| 6,600 6,600 0
OJ122% g2 =&l 6,600,000& 6,600
02 HRANMMPRFEHI 320 400 A80
O&E et 2= A| 40,000 x84 320
04 ENBILRSFEH| 3,000 3,000 0
ORMZ2IHEF=2I 250,000& = 12& 3,000
204 M AFH| 1,800 1,800 0
01 Mg PR 1,800 1,800 0
os& 150,000& x12& 1,800
Jl23dl 34,260 36,960 A2,700
=3l 34,260 36,960 A2,700
201 Let23| 15,360 18,960 A 3,600
01 AtE22/Hl 15,360 18,960 A 3,600
ORM2ZHI 100,000 +x8E x 12& 9,600
O= &l 60,0003 x8H x12& 5,760
202 O4dl 14,400 18,000 A 3,600
02 SHHHI 14,400 18,000 A 3,600
OF A 150,000 x8H «12& 14,400
405 TtabE S| 4,500 0 4,500
01 &L SEZFHSHI 4,500 0 4,500
O A (A7) 4,500,000 «1CH 4,500
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SM MBS
B NSTXICH 622 2|
Crel: NYRAISH &z R R
SA B HRA(SH) - MRAY - B O & o4 e HREZ
T A 130
tdEs FUNINEH 29 494,840 301,460 193,380
FRXXIME A3t 85,880 132,200 246,320
FOXXHH 22 8,600 12,800 A4,200
201 LEH2HH| 8,000 12,200 A4,200
01 AtSR22/Hl 6,000 10,200 A4,200
OF0XXIEHZY LEet===ZH|l 400,000&+62 2,400
OZQUNXSARS Bl &MLY
30,0003 x20H «6& 3,600
03 A2 HI 2,000 2,000 0
OASAA LE=EH| 2,000,000& 2,000
203 HRF&Hl 600 600 0
03 A MZ=XHSE=EH| 600 600 0
OAEAMF=Z 600, 000& 600
YR Ml =29 18,000 28,800 210,800
201 Let2IH| 18,000 28,800 210,800
01 AtE22/Hl 10,800 16,800 26,000
ORAHY HARFA =FH| 900,000& x12& 10,800
02 23234l 7,200 12,000 24,800
Olls RERS 600,000& «12& 7,200
SEHE &= 57,480 87,000 N29,520
301 et 4 57,480 87,000 A29,520
05 &-¢l 57,480 87,000 229,520
Os&=+ 200,000& *16E x 143 44,800
Os&2 e A 20,0003 x16H #23| x 12& 7,680
Ogtd =4 25,0003 100 »23] 5,000
WRe =52 B=D| 1,800 3,600 21,800
301 LprtEaa 1,800 3,600 21,800
10 HALAHIE &= 1,800 3,600 A 1,800
oMz SOl A BOIX 24
6,000& x30H 23| x5 1,800
SEAN 29 378,960 139,260 239,700
AMNS2S S| 51,760 139,260 287,500
201 LetEdH| 51,760 57,060 /5,300
01 AtE22|H] 6,000 21,100 A 15,100
O k2t 500,000& «12& 6,000
02 2323l 45,760 32,960 12,800
oz3rs= ¢ 33,400
—=2g= ¥ 1,000,000& 1,000




A MBS
M NES FUMIMEH 29
el SEA 2 (cte: =<
A -3 -H2A(SH) - HEAMY - BES O AFH glgg_":\ﬁ Hos
—&oIe3 1,300,000& x12& 15,600
—dzl 2,000,000& ~6& 12,000
—dol=ERea 100,000& = 12& 1,200
—JIetE3e23 300,000 * 122 3,600
OAEEHI XYl 9,360
—dojotE AL 42 150,000 6 & 900
— et el 2 150,000 ~6& 900
—&dJ|2el g 260,000 x6& 1,560
—EAMN L AIEE 222/l
300,000& = 12& 3,600
— SR ZHIAIAE 95 200,000& = 12& 2,400
Ox&=Abl 3,000,000 3,000
ZOIME A =X 327,200 0 327,200
201 Let243d| 46,500 0 46,500
01 AtE22|Hl 41,500 0 41,500
OFHALOIEOl WE OlAEI(EDII0IA  HIIZ, &
) 10,000, 000& 10,000
OH LS &I EYHl 0l ™| 3,000,000 3,000
Outerd| o1&yl 300,000 *5CH 1,500
OB+ AHAI L HAIE Ol&YI
500,000& »24! 1,000
OMEBZEEZ %X ZZ0(F2MEH, =2 A
H) 3,000, 0002 =34 9,000
OMEAIN0 HE 22 FHI 3,000,000 3,000
ORI2ANHALY HEE 9,000,000 *14] 9,000
OFQHEHLS CHHEE 100,000 & *50 4 5,000
03 A2 5,000 0 5,000
OFAOI &0l [HE ALK A 5,000,000& 5,000
401 AM&HIL 2048 93,000 0 93,000
01 Al&H| 93,000 0 93,000
OF0dgHs®™ L AIEASHEH
3,000, 0002 =34 9,000
O XIHE SEAL 20,000,000 *14] 20,000
OMD & FRESEH 2
16,000, 0002 * 14 16,000
OCRIAA A2IESH 6,000,000 * 14 6,000
ORolZHl AXIHI(HEA) 4,000,000 *14] 4,000
OSE=E20 8X (210, M40, U2e)
3,000,000 =34 9,000
OolAt &xX 20,000,000 = 14] 20,000
OF0RXIHE 5% A28 3,000,000 »34] 9,000
405 Kot S| 187,700 0 187,700
01 MAHEZFH = 187,700 0 187,700




SN MBS
HM: MEHS FOUXNXMEH 29
Sl SHA 2Y (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
ORI A QAN AE (AIF) 15,000,000& * 14 15,000
OSTHE(SHEA AA AR)
1,500,000& »2= 3,000
OAIR A 0A AIAE (SHA ATSA MALA A7
) 0,000,000 =14 20,000
O HH (A7) 800, 000& *2H 1,600
Oolol thole XX HME(A)
5,000,000& =14/ 5,000
OOClE gt HEH HMU(AR)
700, 000& *x24] 1,400
otigca & sHA EXoX ME(AF)
1,500, 000& *24] 3,000
OHEH (A1) 1,400, 000& *3CH 4,200
O HHIE (A7) 2,000,000& *2CH 4,000
OXZEAI|(AMF) 300, 000& =24 600
OZJ1&HII (&) 1,500, 000& *3H 4,500
ottsxa EIIHCIXI (&) 500,000& = 1JH 500
OZ I (A7) 700, 000& x3CH 2,100
OHILIQEZ2EE (AIF) 3,000,000 = 1CH 3,000
O ATRI(AIR) 2,000,000 *1JH 2,000
OLE=Z (M) 1,800,000& = 1CH 1,800
ORLRULHE(AR) 500,000-& =31 1,500
Oelmal e fedI|I (A7) 5,000,000 14 5,000
OFOIXXIHE SAIP(AF)
25,000,000 * 14! 25,000
OF0EEE(AIR) 300, 000& =54 1,500
OZF0lg|oal Xt oX ME (&)
21,000,000 =14 21,000
OF0XXAEH 2H] AWAME (M)
2,000,000& *24! 4,000
OZF0IXXIMEl 22|A QAA AE(AITR)
5,000,000& * 14 5,000
OF0wWa HAY ATNE (M)
7,000,000 *3JH & 21,000
OFOUXXIHE & (F0lwa, oAl SAA
S 4AR) 2,000,000 x6 % 12,000
OEY EX Y ATNE(AT)
20,000,000& » 14! 20,000
FOI=JAAS 30,000 0 30,000
FOISEHAIE AU 30,000 0 30,000
401 AlEHIZL20H] 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OF 0= ALH HI 30,000,000& 30,000
HESAAH| (AES) 64,845 72,040 ANT,195




SN MBS
HE: #H2YAY (4BS)
chel: ol 2| (e @8
S EHB .S (BH) - HRAIY - B2 Of) A o4 gggf; HDZS2
ol 2| 35,085 34,840 245
ol 2| 35,085 34,840 245
101 Q1248 23,365 23,040 325
03 RIAHADZRE S 23,365 23,040 325
OFAR2IoI=Y 23,365
-2 836,680% 12« 128 10,041
—Jlzay 836, 6802 *400% 3,347
—ZEEI 836,680 *150% 1,256
—JbH Xl 836, 68021 *200% 1,674
—ZD2D2LY 44708 %1.5+15A1 24128 1,207
—EUDDLY 4470281 2+1 5+ 128 1,288
— Qi xf g 4,470 Al 2415 537
—Zug A 80,0008 * 122 960
—DEE XY 140,0002! * 1224 1,680
—220183
836,680 /243+BA| 2465+ 114432 54
=4y 40,0002 +122 480
—SlMag 30,0002 * 122 360
—MEER 22,884,0002%21/1,000 481
203 HRFY| 9,920 10,000 A80
01 IS YR =AY 6,600 6,600 0
OJle2y YR 6,600, 0002 6,600
02 AR Y| 320 400 A80
OFRItAr AR E=TY| 40,0002 *8% 320
04 FNRYYAREAY| 3,000 3,000 0
ORNR2Y R=TY| 2500002 *122 3,000
204 MEaAY| 1,800 1,800 0
01 HMZASLAY| 1,800 1,800 0
oSz 150,0002! * 1224 1,800
CEE] 29,760 37,200 AT,440
= 29,760 37,200 AT,440
201 Ygreg| 15,360 19,200 3,840
01 AtR2elt] 15,360 19,200 A3,840
ORN2| 10,0002 x8 * 122 9,600
OJlzz 60,0002 +82 122 5,760
202 01t 14,400 18,000 3,600
02 2 01| 14,400 18,000 23,600
O 0it| 150,0002! %82 * 122 14,400
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SN HES
HE: XYXXSH SHB B (HHS)
Sl TIYXRISH HH B2 Z (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot Hws2
1] A 130
MBS ZOINXMEH 2 530,420 0 530,420
ZOIXXIME B4t 103,500 0 103,500
FORIIME 2 19,550 0 19,550
201 Yer2 Yyl 8,750 0 8,750
01 AtSR22/Hl 5,750 0 5,750
OFARRIME Ler+SH| 400,000 x5 2,000
OFUNXIARE 50 &AlSg
0,000 +25% x5 3,750
03 A2 | 3,000 0 3,000
OFUNXIME HBLHS 3,000,000 3,000
203 YREZY| 600 0 600
03 AlZZ=TQ R =AY 600 0 600
OANEAIHEZ 600, 0002 600
301 LB A 10,200 0 10,200
10 BAAEI 242 10,200 0 10,200
OFURME HAZA AHI2a
20,0002 ¥50A| 2452 5,000
OFURXIMEI AL 22 URAZAT 624
20,0002 28 *1302 5,200
IR Hel 2Y 26,400 0 26,400
201 Yer2 ) 20,400 0 20,400
01 Aty 10,800 0 10,800
SLEET-TEEs Bl 90,0002 %122 10,800
02 IT2YH| 9,600 9,600
Oolz2E3 80,0002 128 9,600
401 Al&HIL 20| 6,000 6,000
01 Al&H] 6,000 6,000
OuisioE ESHAT ME 6,000,008 14 6,000
s s A& 54,550 54,550
301 LBBA 54,550 54,550
05 S-2-UPHSBHI 54,550 54,550
OS=E+g 200, 0002 * 15% * 143 42,000
OSH3lol FH4Y  20,0008*152+25]« 128 7,200
oprag 25,0002 * 1072 x23| 5,350
iRst 222 orsD 3,000 3,000
301 LB A 3,000 3,000
10 BAEI 243 3,000 3,000
OMZTE B2 21SI| HEA HOX 24|
6,00021 502 x23| x5 3,000




A WS
M HEE FUXHH 2
el SEA 2 (cte: =<
A -3 -H2A(SH) - HEAMY - BES O AFH glgg_":\ﬁ Hos
SEMN 2Y 396,920 0 396,920
FA2Z 3 87,120 0 87,120
201 LBt 87,120 0 87,120
01 AFR 22l 14,600 0 14,600
OTHar2te| Let===2H| 800,000& = 12& 9,600
OFAMOIEN HE AZEH| 5,000,000& 5,000
02 5234l 72,520 0 72,520
O222=2% HHA 55,600
-2z 2 WA 1,000,000& 1,000
—&ole3 2,000,000& «12& 24,000
— Aot ER3 250,000& = 12& 3,000
—JIEIE323 300,000& = 12& 3,600
— o=t 2,000,000 *12& 24,000
OAEEHI XYl 13,320
—do|etMd e thE==+2  150,000& 123 1,800
— et x5 150,000& = 12& 1,800
—sdJ|&e g 260,000& =122 3,120
—EAMN L AIEE X2/l
300,000& = 12& 3,600
—SFoFHAIAE 295 250,000& = 12& 3,000
Ox&=Abl 3,600,000 3,600
FOHEYH g =& 309,800 0 309,800
201 LEt23| 25,000 0 25,000
01 AtE22/Hl 20,000 0 20,000
O AMOIEU WCHE Ol AtYI 8,000,000& 8,000
OdASAEHl Ol&™YI 3,000,000& 3,000
O LED| Ol &Yl 300,000& x5CH 1,500
OAAE & FEE 0l&H] 500,000 *3H 1,500
OMEEZEEZ %X ZZ0(F2HMEH, =X
H) 3,000, 0002 *24 6,000
03 A2 HI 5,000 0 5,000
OFEAMOIEN [HE ALK A HI 5,000,000 5,000
401 AlEHIZ 2 126,000 0 126,000
01 Al&HI 126,000 0 126,000
OFHHET L AIERSEHT
3,000,000 =34} 9,000
O=0IdH HEIZ &X 14,000,000 * 14 14,000
O=0QIHE 2ot OIZE 2,000,000% 24! 4,000
O ==%AAIN 5,000, 0002 =14 5,000
O=0IXXIHEH SEAL 20,000, 0002 14 20,000




SN wES
HH: wEE FONXME 29
Sol: SHA 29 (el &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OMD 2 =oIS=Jic Qs
16,000,000& * 14 16,000
ODIJA AMOZER 6,000,000 * 14! 6,000
OO0l JAASAL) SHEtE 9,000,000 * 14 9,000
OF0HAHLHE OHLHEE 100, 000& 504 5,000
OR0o1Ad|l &XHl 4,000,000 * 14 4,000
OS2 E£xX(#0 , M0, UsHA)
5,000,000& * 14 5,000
Qo &xl 20,000,000& » 1A 20,000
OFUXXHE 22 A28 3,000,000 *34) 9,000
405 KHAHFE S| 158,800 0 158,800
01 MY =S EF SHI 158,800 0 158,800
OBIKAA QA AIAE(AIF) 15,000,000& x 14! 15,000
OoIJA L& (AFR) 5,000,000& * 14 5,000
Qoo tholg =X L QX HME(MR)
6,000,000 * 14! 6,000
OUszd L sHA X & AXNNE(AF)
2,000,000 *24! 4,000
otlgzd & SHA A (AR)
2,000,000& *24! 4,000
OOClELlgt HEH HM(AR)
700, 000& *x54] 3,500
OZEE(ZULIEHZE, MR) 1,400, 000& *=7CH 9,800
OdyH&(saA) 1,000,000& =1CH 1,000
Ogrdl & (2raal) 2,000,000 =1CH 2,000
O2JI&8EI|(AFR) 1,500, 000& *3H 4,500
OXZ2HAI|(AFR) 300, 000& *x2H 600
Okelmal e fedI|I (&) 5,000,000 14 5,000
OUoIMERIH(ME, &) 700, 000& =4 CH 2,800
OZHE2IH(AR) 1,000,000& =1CH 1,000
OAMH (A ) 500,000& = 1CH 500
OZ A (A7) 4,500,000 = 1CH 4,500
OLLILHE(AFR) 500,000& =2CH 1,000
OFOIXXIHE SAIP(AF)
20,000,000 * 14! 20,000
OSIOIEE= (22 Al 3|oAl) (A7)
400, 0003 =44 1,600
0250139/ A! &1} L OIXF ME(ATF)
21,000,000& » 14! 21,000
OFCIXXAEH Z2Hl AL HME(XT)
2,000,000 x24! 4,000
OZF I XXIME, QHLHGOI AT OAAAE (AIFR)
4,000,000 =14 4,000
OZolal zHA L O} ME(AF)
6,000,000 *24! 12,000




SN S
Hal: wEE FORIME 29
S SHA 29 SREE
_ _ _ Muo
SN I (3) ERRE brey 01l &t o e
O=F2UXNXIdE +=&& o gAY EoAS
)& ) 1,500,000& 4= 6,000
Oot=2xa &Xt 2 ARHE(AF)
20,000,000& * 14! 20,000
Fo=3A AN 30,000 30,000
Fo=SEALY | 30,000 30,000
401 Al&HIZL=RHYI 30,000 30,000
01 AlEHI 30,000 30,000
OF0=2 A 30,000,000 30,000
HHY2AHH (B S) 61,085 61,085
Iz 2 35,045 35,045
eI =2El 35,045 35,045
101 Q14| 23,365 23,365
03 RIIHAZZ XN E = 23,365 23,365
OF A& ¢8Y 23,365
—Jl2=s 836,680& x1H 122 10,041
—Jlgse 836,680 *400% 3,347
— X222 4,4703 1. 5%15A| 2+ 12E 1,207
—S22RY 4,470 #8AI 21 .52 <128 1,288
— X 4, 4702 «BAl 2+ 158 537
— US4 80,000& 122 960
— WS 2| 140,000 =128 1,680
—FE SO 836,680 «150% 1,256
— JHA X &I 836, 680& *200% 1,674
—2FI3
836,680 /243*8 Al 2+ +65%+ 14 3 & 54
—E=E 40,0003 x12& 480
— Pl 30,000& 122 360
—MHEEE 22,884,000&*21/1,000 481
203 R4l 9,880 9,880
01 JI22F L= 6,600 6,600
OJ22ZLF=48HI 6,600, 000& 6,600
02 HANMHRF=EHI 280 280
OZFAINMHRFLHI 40,000 7S 280
04 RA2ILRFLH 3,000 3,000
ORM2IYSF=LH 250,000& 128 3,000
204 X @23 AY| 1,800 1,800
01 MM HRHFH| 1,800 1,800
os& 150,000& «12& 1,800
Jl=&Hl 26,040 26,040




SN
X XH .
S Tt

el

SA-EH - S2A(SAH) - MRAE -

el

[
2

20
B
2

Jl=&Hl 26,040 26,040
201 LEH2HH| 13,440 13,440
01 At 2t2ibl 13,440 13,440

ORA23Hl 100,000& 7 =122 8,400
O=gHl 60,000 x7H*12& 5,040
202 Oddl 12,600 12,600
02 XM 12,600 12,600
O A0 150,000 x7E *12& 12,600




SN
X XH .
S Tt

el

&2tel 3l
&H2 2| F | (98

X A0
4 20
I
m
_>‘|_l

0% 0% Of

_,_
|
z

SNBSS - MEAY - BES 04l &k 24

=1

(R

121
==
El
i
oy

253 498,759 347,592 151,167
745
498,014

= H

AN AR M o H2el B 2,295 0 2,295
745
1,550

=z H

KSR M & H 22 S 2,295 0 2,295
745
1,550

= H

o
H
omn
=
-
oz
rx
¥
4
pal

2,295 0 2,295

745
1,550

=

101 1A 220 0 220

110
110

= M

04 JIZtHZ2NSE=> 220 0 220
OHb2l dIsAXNYEN JI2ZHMIZZ2A 212
220,000& 220

110
110

=

201 LEH2HH| 1,550 0 1,550
370
1,180

= H

01 At 2t2ibl 1,550 0 1,550
OHMI5al d=SAAYEH 28 &
,000& 1,100

200
900

=

OHM5al HISAANLEEH dRFA

50,000& 450
170
280

= H

202 Oddl 265 0 265

135
130

=

01 =LHOYI 265 0 265
ORMb5el E=sSAXNSEH HEFE K|
265,000 265

135
130

=z H

203 AR =& 260 0 260

130
130

=

EIEESS

| 260 0 260

&l

i

260,000& 260
130

H




PAH: 25
A NYXXISH &H2elE
el KIYXFRISHR & 223 (&te: @2
i} _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH Omnou BlusSZ
||| Al 130
2ES FOUNXHE 29 428,140 287,920 140,220
FOIXXIME A5 227,040 167,920 59,120
FOIXXINE 29 130,020 72,000 58,020
201 LEt2HH| 25,600 18,800 6,800
01 AtRZ2lH] 20,600 15,800 4,800
OFQURNXIHE 2% LBt
500,00024 122 6,000
OFOIXXIME AAX g2t 2,000,000 2,000
OFOURNXIANE 3o E AN
30,0002 x25%4 « 122 9,000
OFOUITXILE HADR H2H|
300,000 * 122 3,600
03 SAIR2ZH| 5,000 3,000 2,000
OF0IXXIHE RZUTF 3,000,000 3,000
OFQIRXIME Ast & N2 2,000,000 2,000
203 Y= 600 600 0
03 AMHZ=XADFZY| 600 600 0
OANZAIH =7 600,000 600
301 LEEAS 38,920 12,600 26,320
10 SHAIAHI 2 A2 38,920 12,600 26,320
OFOIXXIME XREAK AHI 24
20,0002 * 120 «12& 28,800
OFO0INXIME Al NHASAX AH B A
20,000 x2 2 x2532 10, 120
405 XtAHE SHI 64,900 40,000 24,900
01 MHALSEFSH 62,900 40,000 22,900
O0ls" UI(AR) 2,000,0008 x4l 2,000
OE R (&F) 600,000 *5CH 3,000
OZojal & 3lo/Al FIOIEEE=(AITR)
300, 0002 44 1,200
OFQUXNXIHEH DE2 FEH(AR)
1,100,000 x21CH 23, 100
OFOIXXIME 2olal A I OTHAIE (&)
,000,0002 *30H &! 15,000
OF0UIXXIHME HZMAIE CIAZYOI0IR (A
) 50,0002 *30H 1,500
OF0INXIME T2 oLl SHEtm Y= (Al
1) 3,000,000 14! 3,000
OO & (L) SAIE AXH(AIF)
10, 0002 *300H 3,000
OZQRXHE CeHDAS DU E(AR)
2,000,000 =1CH 2,000
OZQIRXIHE A2s0l 2AD(&T7) 9,100




SN

& XdE 29
CHol: XIME st 2 HR)
- _ _ N e
- GR(SH) - MRAY - BAS Aol e o
= 150,000 107K 1,500
—&3 400,000& = 1574 6,000
—& el 100,000& =104 1,000
—3& 300, 000& *2JH4 600
02 =Ml 2,000 0 2,000
O=QRXIHH TA 10,000& 200 2,000
QAR 29 20,420 19,320 1,100
201 LetIH| 18,720 16,320 2,400
01 AFR 22l 9,600 8,400 1,200
OSIAHHALEZT Asts Y|
800,000& x12& 9,600
02 2223l 9,120 7,920 1,200
Olls fHER= 700,000& x12& 8,400
Ofts 2Bz 1,500& 4021+ 128 720
405 KHAHFSHI 1,700 3,000 A 1,300
01 XML SEFHSHI 1,700 3,000 A 1,300
OTA (A 700,000 *1CH 700
O2M AN (CHAN) 1,000, 0002 = 1CH 1,000
gz X& 70,600 70,600 0
AutBAS 70,600 70,600 0
s-o-EtEEssads 70,600 70,600 0
Oos&=+¢ 200,000 20 *143| 56,000
OS&3e &&+Y 20,0003 x20H+x23|x12& 9,600
Ot =4 25,000 1009 »23| 5,000
=52 ¢t=D| 6,000 6,000 0
dutEa=g 6,000 6,000 0
HALAHIBAZ 6,000 6,000 0
ONRE==SLUSI| HEL 0L S4
6,000 * 100 x23| x5 & 6,000
A 29 171,100 90,000 81,100
HA2E 3| 171,100 87,000 84,100
B2 A 145,300 81,000 64,300
01 AtE222|Hl 12,000 8,400 3,600
OMaet2te] Bt=2ZH| 1,000,000& x12& 12,000
02 2223H| 125,300 67,600 57,700
O332=aLHA 82,700
—&IIe3 6,000,000& «12& 72,000
— 4otz 450,000 x12& 5,400
—XNSIA & 28 800, 0002 *1CH 800
—JIEt 23323 250,000 x12& 3,000




PN 25S
M 225 FOXNIME 29
gl s BN 29 He
SN HH G (EH) - MBAY - BYS 01l &+ o4 e 2
Ofl &4 4
—HANHSLS L DERLFLI
1,500,000& 1,500
OB (HA WLree) 3,600
—SANNARZ 300,000& = 12& 3,600
OAl&EHI= Xl 34,200
—&EA 2 AEES X2l
800,000& x12& 9,600
Moot 2e| =2 385,000 +12& 4,620
— & At 2at2teld] 120,000 «12& 1,440
—=ZJ| 72l 170,000& x12& 2,040
—201ddl ==& 200,000 »2 A +12& 4,800
—EAMAEH L 2,800,000& 23| 5,600
—EAHtE E A& 2,500,000& 12| 2,500
—JIEt AlZ ZHl= Xl 300,000& «12& 3,600
Oxt&= Xl 400,000& *12& 4,800
03 EAH2ZEHI 8,000 5,000 3,000
O&=EHAL HE A ALK 2 HI
8,000,000& 13| 8,000
401 AlEHIZ 2 25,000 6,000 19,000
01 Al&H| 25,000 6,000 19,000
OZOHQ HOAE AXISA 12,000,000 14 12,000
OFIDAE EXZSA 10,000, 000& * 14 10,000
OANZEE2ote 24 500, 000& *6IH 2~ 3,000
405 KH&HFESHI 800 0 800
01 T =S HSHI 800 0 800
Oxlz HAI (&) 300, 000 *1CH 300
OHIYE2AN B2 20(AH) 500,000& 500
Fo=JAANY 30,000 30,000 0
FOSEALY EH| 30,000 30,000 0
401 AlEHIZ 2L 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OF2U=2 At I 30,000,000& 30,000
HY2AHU(2ES) 68,324 59,672 8,652
ol 2| 38,064 37,352 712
oz ety 38,064 37,352 712
101 elH| 26,344 25,712 632
03 RIIHAZZ X2 = 26,344 25,712 632
O& A2tz 12 26,344
—Jl=22 836,680& 12 10,041
—J|g=< 836, 680& *400% 3,347




SN 255
HH: HHRIPHI(RES)
chel: ol | Hel
SN HH G (EH) - MBAY - BYS Ak e 2
Ofl &4 4
—JHAIX 836,680 *200% 1,674
—HESOtd| 836,680 *150% 1,256
—s2 x| 140,000& x12& 1,680
— A gAY 80,000& 123 960
— MG 30,000& 123 360
—IE==g 80,000& x12& 960
—SiHlEX+E 416,7603 *43] 1,668
— =22 4,4703 x1.5%15A1 2t 128 1,207
—SYU2R2EY 44702 %1.5%8AI 2tx22 x12F 1,288
— At~ 4, 4703 +BAl 2t+ 162 573
—2HIHa3

836,680 /243*8 Al 2+ +65%x* (3 x4 2 +4\H *8%) 788
—MTHEEE 25,802,000& *21/1,000 542

203 HRF&H| 9,920 9,840 80

01 J|22IHFF=&HI 6,600 6,600 0
OJI 22 HRF48| 6,600,000& 6,600

02 FRAINMAHSFAHI 320 240 80
OZFJAINMAHRFAH| 40,000% x8H 320

04 BEASIHFFEHI 3,000 3,000 0
ORAN2IHRFAHI 250,000& «12& 3,000

204 HRLBAY| 1,800 1,800 0

01 Mg HRHAH| 1,800 1,800 0
Oos% 150,000 «1H <128 1,800

Jl2ZHl 30,260 22,320 7,940

=224l 30,260 22,320 7,940

201 Yer2Yy 15,360 11,520 3,840

01 At222ld 15,360 11,520 3,840
ORM2Z 100,000 +x8E x 12& 9,600
OJIZ2=8 60,000 x8H x12& 5,760

202 O4Hl 14,400 10,800 3,600

02 XY 14,400 10,800 3,600
OEHHY 150,000& 8H 12 14,400

405 TtHatHSH 500 0 500

01 THaUSE 500 0 500
O2Md # ) 500,000& *1CH 500
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